Math 100 Unit 3 Test Name:

1. Simplify the following expression as much as possible and answer the questions below:
2(5a—2)+3(a’+4)

10a -4 + 3a% TIL
(O + 8 + 3&3

a. Write your answer as a polynomial in standard form.

- 3&3 “i"[OcL-{‘"g

7L
b. Is your answer to (a) a monomial, binomial or trinomial?
4 Trinemial

2. Solve: [22—-4)+15]-3+2=
[2(-2) +i15]:3*a =
p (-4 +15].3+~
- 132 -
3342 =
35
3. To calculate Body Mass Inidex (BMI) use the formula BMIT = ;Z% where W is the

weight in kilograms and H is the height in meters. Calculate the BMI of someone who is
2m tall and weighs 90 kilograms.
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4. Evaluate each expression with the given values: a=4, =34, ¢ =—11
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5. Solve each equation. Remember that you can check your answer by substituting your
solution into the original equation and simplifying each side of the equation:
a. a+V49 =100

p at 1=ioo
A o= a3

b. »-16—2/=—4

b -4l -4
B b-ons-y
=0
c. 3c?=243
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F=3gvy
vs 28, 13 = 56*3
2 Q,.% | %
—2g—10=30
__ZS:«—ZQ
9= 1o

S+ +4h= 11k

5ht (0F4%h= {lh
(0= ah
h=05

—5(G—10)=5i+10
-5+ 505 5010
Y0 = 10¢
¢ =4

. L+l+2.5=15



6., 4x—T7<-3
a. Solve the inequality.

L\Xé“i xA\

", b.. Graph the solution on the number line.
73 A :

| o
7. 8x+5>53
a. Solve the inequality.
3 Gx 7 9%
x % &
4 b. Graph the solution on the nurhber_l_ine._ I
E o O e e e
i
i
8. 4—-du<32
a. Solve the inequality.
4 ~Yo 418 ~71% 4 Yo

b.  Graph the solution on the number line.
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9. Write an equation with variables to represent each unknown value:

4

11.

a. The,area of a parallelogram,is equal to the product of the base,and the height,

A : & H
A= B H
The difference between the griginal price and the sale price is the discount.,

O-5=D

. .Shlomo’s speed,is 10 miles per hour faster than Yitzi's speed.,

> b
S = A+ 0

. Write an equation to represent the following information: A bag of 240 jellybeans

is divided equally among three children. Each child gets x jellybeans.

‘%i{? = x
=

Solve the equation to determine how many jelly beans each child gets.

¥ =80

. Write an equation to.represen.t:the f'ollowing'informatioh: There are five boxes,

each with x chocolates. Sarah pours them into a bowl and adds another 10 - -
chocolates. Now there are 70 chocolates in all. ' o R

5x + Q=170
‘Solve the equation to determine how many chocolates were in each box.

DY = 60
Y= 1A



12. Consider the figuré”plo_tted on.the graph”belOw.. Label and give the coordinates of each
vertex. - o I ' - :
a (1%
b. (5,4
Ve c. (4,1)
d. (2.,1)

4

R IR TOSY. N

.. e., L4 & .a

13. If the figure is reflected in the y-axis AND translated, 5 units down determine the new
coordinates of each point.  — * .3 -5
a. (~i,~h -
b.. (‘_"5,-!)
c. (-9-4)
d. ¢2.-9

N
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14. Shifra works in sales. She makes $200 a week plus 10% of whatever she sells. Her
wages can be represented by the function # = 200 +0.108 where W represents her

wages in dollars and S represents the dollar amount of sales she makes.
a. Complete the table below for this function.

b. Plot the function on the graph below.

(oo = o0s -2 §= (oo

-2 §=2000

s |w

o 200 |
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Read the graph carefully and answer the questions.

15. How many bears were there in Emerald Forest in 20017
bo ) coo

16. By how much did the bear population increase (+) or decrease (-) between 2000 and
20067 .

+ 100,000

17. Durihg which interval was there the greatest amount of change?

20622603

Bear Population in Emerald Forest

160

120

100 |

Population (in thousands)

2000 2001 2002 2003 2004 2005 2006
Years



- "_Bon_us: Compute the square of one hundred eleven million, one hundred eleven thousand, one

7

hundred eleven.
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